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1. Revision

. (a) 64,08,008

(b) 87,78,238

() 92,05,046

(d) 5,28,652

(e) 6,06,281

(1) 10,36,024

. (a) Eight lakh thirty-five thousand four hundred forty-nine.

(b) Two lakh forty six thousand thirty-nine.

(c) Thirty-three lakh nine thousand two hundred fifty-six.

(d) Seventy-seven lakh five hundred sixty-four.

(e) Thirty-four lakh eighty six thousand four hundred five.

(f) Four lakh sixty-nine thousand two hundred seven.

(g) Thirty three lakh six thousand nine hundred forty-eight.

(h) Forty-five lakh thirty-six thousand seven hundred eighty-one.

(1) Forty-four lakh forty-five thousand eight hundred
ninety-three.

. (a) 45803 +23089= 45803

+23089
68892
(by 10833 (c) 3656 (d 20168
+ 8565 +60197 +45764
19398 63853 65932
. (@ 30265 by 80000 (c) 66407
-14848 - 1866 -49839
15417 78134 16568
(d 90080
-35006
55074
. (a) 806 (b) 662 (c) 447
x29 x37 x51
7254 4634 447
16120 19860 22350
23374 24494 22797
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10.

(d 470

(a) 119
16) 1905

-16

30

-16
145
-144

1

Quotient =119 and remainder
=1
(b) 81
13) 1056
-104
16
—-13
3
11,13,17,19, 23,29

(a) 64=1x64=2x32=4x16=8x8

Quotient =81and
remainder =3

(©) 228
15) 3434

30

43

30
134
120
14

Quotient =228 and
remainder =14
(d 81
34 ) 2776
-2172
56
-34

22

Quotient =81and
remainder =22

All factors of 64=1, 2, 4, 8, 16, 32, 64

(b)42=1x42=2x21=3x14=6x7

All factors of42=1,2,3,6,7, 14, 21, 42
(€)135=1x135=3x45=9x15=5x%27
All factors 0of135=1, 3, 5,9, 15, 27, 45, 135

(d)63=1x63=3x1=7x9

All factors of 63=1, 3, 7,9, 21, 63
(a) 5, 10, 15, 20,25 (b)6,12,18,24,30 (c)7, 14,21, 28, 35

(d)9, 18,27, 36, 45
(2)372+6=62

Yes, 372 is the multiple of 6.

(b)310+5=62

Yes, 310 is the multiple of 5.
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11.

12.

(c)423+6=17.5
No, 423 is not the
multiple of 6. Ans.
(d)240+24=10
Yes, 240 is the multiple

of 24. Ans.
(a)63+7=9

Yes, 7 is a factor

of 63. Ans.

(b)156+12=13

Yes, 12 is a factor

of 156. Ans.
(c)124 +11=113

No, 11 is not a factor

of 124. Ans.
(d)90+15=6

Yes, 15 is a factor

of 90. Ans.

12,15, 18
4,5,6
2,5,3
1,5,3
1,5,1
L1,1

~.L.C.M.

=3x2x2x3x5=180 Ans.

(b) 2 |16, 20,24
8, 10, 12
4,5,6
2,5,3
1,5,3
1,5, 1
L1, 1

el

SJLCM.=2x2x2x2%x3x%x5

=240 Ans.
48, 64, 96

2 |24,32,48
2 |12,16,24
2 16,8,12
2

2

3

3,4,6
3,2,3
3,1,3
L 1,1

- L.CM.
=2X2x2x2x2%x2x%x3
=192 Ans.
(d) 5 |45, 60,90

3 19,12,18
3 (3,4,6
2 [1,4,2
2 [1,2,1
1,1,1

..L.CM.
=5x3x3x2x2=180 Ans.

. (@)27=3%x3x3

and 81=3x3x3x3
S H.CF.=3x3x3=27 Ans.
(b)42=2x3x%x7
60=2x2x%x3x%x5
and 45=3x3x5
S H.CF.=3 Ans.
(€)32=2x2x2x2x2
48 =2x2x2x2x3and
64=2x2x2x2x2x2
SJH.CF=2x2%x2x2=1Ans.
(d)108=2x2%x3%x3x3
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14.

15.

16.

17.

144=2x2x2x2x3x3and216=2x2x2x3x3x3
SJH.CF.=2x2x3%x3=36
44 44+44 1

(a) —= =— Ans. (b)— = =
88 88+44 2 200 200+25 8
(C)124=124+4=ﬂ Ans.(d)@=190+2=9—5
136 136+4 34 308 308=+2 154
36 38 17 17 13
a) —< — b) —>— c) —<
()39 39 ()18 19 ()14
28 3
d)—>=
()31 7
(a)2_2><2_i'2><3_£‘2><4_§.2><5_E
5 5x2 10 5x3 15 5x4 20 5x5 25
Hence, equivalent fractions are i, g , i , E
10 15 20 25
(b)2—2X2—ﬂ'2X3—§'2X4—§'2X5—Q
3 3x2 6 3x3 9 3x4 12'3x5 15
Hence, equivalent fractions are ﬂ, 6 , 8 , 10
6 9 12 15
(C)E_3X2_£’3X3_2'3X4_E’3X5_1—5
7 7x2 14 7x3 21'7x4 28 7x5 35
Hence, equivalent fractions are o , 9 , E, 15
14 21 28 35
(d)§_5x2_9‘5><3_175'5x4_@‘5x5_275
7 7x2 14 7x3 21'7x4 28 7x5 35
Hence, equivalent fractions are & , 1—5 , @, 2—5
14 21 28 35
2 2 1 2+42-1 4-1 3
17 17 17 17 17 17
(b)l+z:3+10:9
5 3 15 15
(C)§+1—7=10+17=2—7=6§
2 4 4 4 4
(d)g+ﬂ:57+202225£
5 3 15 15 15
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18. (a) 68.92>68.29  (b)35.06 >35.006 (c)6.8>5.99

(d)1.34<3.0
19. (a)l.9=Q:12Ans. (b)325=ﬁ=§=9: !
10 10 100 20 4 4 Ans.
(0)2.5:§=§=21Ans. (d)12:2=§=11
10 2 2 10 5 5 Ans.
20. (a) 68.00 (b 25.050
8.25 18.961
+9.60 +17.200
85.85 61.211
21. (a) 38.23 (b) 30.00
-36.56 -15.97
1.67 14.03
22. (a) Perimeter of square =4 x side =4x8 cm =32 cm Ans.

(b) Perimeter of A =35cm +24cm +48 cm =10.7 cm Ans.
(c) Perimeter of rectangle =2(/ + b) =2(6 + 4) cm

=2x10cm =20cm Ans.
(d) Perimeter of rectangle =2(/ +b)=2(35+12) cm
=2x47cm=94cm Ans.
2. Large Numbers

Exercise 2 A
1. (a)3,82,69,892 (b)31,15,16,114 (c) 70, 10,204
(d) 16, 13, 06,356 (e) 6, 23,46, 879 () 8, 15, 01, 048
(g) 3, 98, 491 (h) 30,24, 31,246 (i) 2, 45, 85, 341

2. (a) 6598433238

S

20

300

3000
40000
800000
9000000
50000000
600000000
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b)130305489

=,

400

5000

0

300000

0
30000000
100000000

3. (a) 20,06,00,245 (b) 5,87,53,009 (c) 78,00,792
(d) 99,92,99,998 (e) 6,52,40,417 () 4,67,213
(g) 75,09,00,031 (h) 3,01,02,001
4. (a) 300000000 +50000000 + 6000000 + 300000 + 60000 +9000
+300+40+5
(b) 1000000 +500000 + 30000 + 7000 + 400 +10+2
(c) 600000000 + 50000000 + 4000000 + 0 + 40000 + 7000
+300+60+9
(d) 300000000 +30000000 + +6000000 +100000 + 30000 + 6000
+300+60+0
(e) 3000000 +300000 + 40000 +8000+100+50+3
(£) 800000000 +0 + 0 + 800000 + 40000 + 5000 +900 +10+9

5. (a) 800000 (b) 5000000 (¢) 30000000
(d) 500000000
6. (a) 63,04,508 (b) 84,93,35,614  (c) 1,00,00,063

(d) 73,00,44,467  (e) 80,00,08,096

7. (a) 93,43,466; 103,43,466; 113,43,466
(b) 81,68,234; 81,67,234; 81,66,234
(c) 38,33,44,555; 40,33,44,555; 42,33,44,555
8. (a) 999999999 (b) 100000000 (c) 10000000
(d) 1000000 () 99999999
9. 10,00,00,000 10. 100 11.100 12.99,99,999
13. Place value of 4=40000
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Exercise 2 B
1. (a) Two hundred ninety million one hundred thousand sixteen
—290, 100, 016
(b) Thirty-seven million six hundred thirty-five thousand four
hundred thirty-four — 37, 635, 434
(c) One hundred sixty-four million seven hundred forty-two
thousand seven hundred eighty-three — 164, 742, 783
(d) Nine hundred forty million five hundred ten thousand five
hundred forty-six — 940, 510, 546
(e) Eight-two million eight hundred fifty-nine thousand
sixty-four — 82, 859, 064
(f) six hundred million three hundred twenty-eight thousand
four hundred fifteen — 600, 328, 415
2. ()9 (b)2 ()39 (d)1 (e) 8 5
3. (a) 700,000,000 (b) 80,000,000 (c) 9,000,000
(d) 600,000,000 (e) 500,000,000
4. (a)3,75,76,758 +1=3,75,76,759 and 3,75,76,758 —1=3,75,76,757
(b) 39,999 +1=40,000 and 39,999 —1=39,998
(¢)1,5525655+1=15525656and 1,5525,655 -1=1,5525,654
(d)2096390+1=2096,391and 2096390 —1=20.96,389
(€)199.39.995+1=199.39.996 and 19939995 —1=19939,994
5. (a) 38,560,730 (b) 15,000,055 (c) 40,080,080
(d) 824,925,446 (e) 53,093,642 () 2,000,900
(g) 5,235,475 (h) 76,000,450
Exercise 2 C
1. (a)440 (b)290 (¢) 10 (d) 80 (e) 3390 (f) 130
(g) 2200 (h) 5400 (i) 380
2. (a) 6300 (b)300 (c) 100  (d) 39400 (e) 3600 (f) 900
(g) 100 (h) 92300 (i) 35400
3. (a) 5000 (b) 1000 (c) 35000 (d) 6000 (e)4000 (f) 50000
(g) 8000 (h) 3000 (i) 36000
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3. Addition and Subtraction of Large Numbers

Exercise 3 A

1. (a) 356483 (b) 477342431 (c) 207814688
2733845 +33541676 92715841
+47466421 510884107 +37640502
50556749 338171031
2. (a) 4864875 (b) 3785816 (c) 4383655
+3879961 +4567358 16954364
8744836 8353174 11338019
(d) 74863945 () 62482566 (f) 2785382
+4914090 +2986302 +6133416
79778035 65468868 8918798
(g) 63985920 (h) 626257756() 39381940
4359881 978124245 51395681

+13658720 +107531421 +63232919
82004521 1711913422 154010540

3.(a 215331 (b) 1829542 (c) 6338455

+544654 +1676473 +62544372
759985 3506015 12592887
(d)y3618317
534456
+ 36625
4189398
4. Total bags of sugar= 42817362
36768264
+ 1936442
81522068
Hence, 8,15,22,068 bags of sugar produced by all the three
factories. Ans.
5. Total tubelights= 3463199
3547640
+1023333
8034172

Hence, 80,34,172 tubelights produced by the factory in three
years. Ans.
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6. Total area of four South Indian states= 376916

291873
48866
+231169
948824
Hence, 9,48,824 sq km are total area of the four South Indian
states. Ans.

Exercise 3B
1. (a) 46385131() 924563 (c)8355623

-26607395 -604050 -874678
19777736 320513 7480945
(d 800343 () 5982680 () 16248368
-725562 -2594278 -2841987
74781 3388402 13406381
2. (8 5664826 (b) 8331936 (c) 8956685
-3529768 -7156643 -7297233
2135058 1175293 1659452
(d 1828195
- 824653
1003542
3. Total income = ¥ 84,726
Total spent rupees= ¥ 5785
3 6570
T 6690
T 1840
+3 325
321210
Leftamount= F84726
-321210
263516
Hence, X 63,5161s left. Ans.
4. Number of books published by other publisher=67947873
-49387875
18559998

Hence, 1,85,59,998 Books published by other publisher.  Ans.
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4. Multiplication and division of large numbers

Exercise 4 A

1. (a) 6465x2009=2009x 6465 (b)3476x 7563 =7563x3476

(c) 1278 x (684 x 840) = (1278 x 684) x 840
(d) 88 x (100 +36) = (88 x 100) + (88 x 36)
(e) 5893 x1=5893

(2)8245x0=0

(£)963x (52x118) =963 x52x 118

(h) 857 x (1000 +57) =(857 x 1000) +(857 x 57)

2. (a) 319120
(d) 361200

3. (a) 151560
(d) 44492000

(b) 66150
(e) 21342000
(b) 2874300
(e) 736800

(c) 4634100
(f) 2017000
(c) 2648100
(f) 104178000

4. (a)2x643x5=643x(2%x5)=643x10=6430

(b) 6x 3872 %20 =3872 x (6 x 20) =3872 x 120 = 464640
(c) 4x 928 %25 =928 x (4x 25) =928 x 100 =92800

(d)2x2128x 500 =2128 x (2 x 500) =2128 x 1000 = 2128000

5. (a) 23653 (b) 14076 (c) 4956 (d) 35646 (e) 11725
(f) 28206 (g) 4125 (h) 420485

(i) 5984

Exercise 4 B

1. (a) 6586
X303

19758

00000
1975800

1995558

(d) 3408
x340

0000

136320
1022400

1158720

(b)
46056
x35
230280
1381680
1611960

(e) 32517
x415

162585

325170
13006800

13494555
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(i) 1475243

(©
3107
x38
24856
93210
118066

(H) 13865
x415

69325

138650
5546000

5753975
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12

Total number of bricks = 3859
X300

0000

00000

1157700

1157700

Hence, total number of bricks =1157700 Ans.
Total weights of bales = 89668
X323
269004
1793360
26900400
28962764

Hence, the total weight of bales =2,89,62,764
Total number of apples = 4115
x318
32920
41150
1234500
1308570

Hence, the total number of apples =13,08,570 Ans.
The total length of cable = 3540
x815
17700
35400
2832000
2885100

Hence, length of cable =28,85,100 m Ans.

. Cost of 8857 m cloth = 8857

X307
61999
00000

2657100
2719099

Hence, cost of 8857 m cloth 18 ¥27,19,099. Ans.
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7. Total amount = 48465
x450

00000
2423250
19386000
21809250

Hence, total amount =3 2,18,09,250

8. Total collected amount = 88939
x4 87

622573
7115120
35575600
43313293

Hence, total collected amount =34,33,13,293

Exercise 4 C
1. (a)528x5=(528x10)+2=5280+2=2640
Hence, 528 x5 =2640
(b)84x5=(84x10)+2=840+2=420
Hence, 84 x5=420

(c) 81x125=(81x1000) +8=81000+8=10125

Hence, 81x125=10125

(d)3316x125=(3316x1000) + 8 =3316000 = 8 = 414500

Hence, 3316x125=414500

(€)342x 25 =(342x100) + 4=34200 + 4 =8550

Hence, 342 x25=8550

()2363x5=(2363x10) +2=23630+2=11815

Hence, 2363 x5=11815

(2) 350x25 =(350x 100) + 4 =35000 + 4 =8750

Hence, 350%x25=8750

(h)3670x125=(3670x1000) +8=3670000 + 8 = 458750

Hence, 3670x 125 =458750

(i) 364 x 25 =(364 x 100) + 4 =36400 + 4 =9100

Hence, 364 x25=9100

() 3281x125=(3281x1000) + 8 =3281000 + 8 =410125

Hence, 3281x125=410125
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Exercise 4 D
1. (a) 126263
675 8459656
—-67
175
-134
419
-402
176
-134
425
-402
236
-201
35

Hence, quotient =126263
and remainder =35
Verification

Dividend = Quotient x
Divisor + Remainder
8459656 =126263 x 67 +35

5456656 =8459656 Proved.

(b) 28297
195 537659
-38
157
-152
56
-38
185
-171
149
-133
16

14

Hence, quotient =28297 and
remainder =16
Verification
Dividend = Quotient x
Divisor + Remainder
537659=28297 x19+16
537659=537659 Proved.
() 48
14) 683
-56
123
-112
11

Hence, quotient =48 and
Remainder =11
Verification
Dividend = Quotient x
Divisor + Remainder
683 =48x14+11
683 =683
(d 1004
3255 326387
-325
1387
-1300
87

Proved.

Hence, quotient =1004 and
remainder =87

Verification

Dividend = Quotient x
Divisor + Remainder
326387 =1004x 325 +87
326387 =326387 Proved.
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(e 2870
312) 895664
~624
2716
~2496
2206
-2184
224

Hence, quotient =2870 and
Remainder =224
Verification

Dividend = Quotient x
Divisor + Remainder
895664 =2870x312 +224

895664 =895664 Proved.

(M 1398

350) 489566

~350

1395

~-1050
3456
-3150
3066
~2800
266

Hence, quotient =1398 and
Remainder =266
Verificatioin

Dividend = Quotient x
Divisor + Remainder
489566 =1398 x 350+ 266

489566 =489566 Proved.

2. Dividend = Quotient x
Divisor + Remainder
(a) Dividend
=440%x265+104=116704

Ans.

Progress With Maths-5

(b) Dividend
=6216%x314+159=1951983
Ans.
(c) Dividend
=321x679+376=218335
Ans.

3. Number of fans =

10235
3255 3326375
-325
763
-650
1137
-975
1625
-1625
0

Hence, the number of fans
=10235. Ans.

4. Average Distance in per day

= 1199
3755 449625
-375
746
-375
3712
-3375
3375
-3375
0

Hence, 1199 km distance car
ran per day. Ans.
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5. Weight of 210 tons =1000x 210 =210000 kg 2800
Number of bags of rice =210000 + 75 =280075 ) 210000

Ans. —150
600
-600
0
Skill Test-1
1. (c) 8000000 ) 2. (a) 1 million (v)
3. (c) 1000000 ) 4. (a) 48080518 (V)
5. (b) 431077694 () 6. (c) 3893771 (/)
7. (b) not defined ) 8.(a)l (v)
5. Order of Operation
Exercise 5
1. (a)8x3-5=24-5=19 Ans.
(b)36x4+18=144+18=162 Ans.
(€)18+3+9-6=6+9-6=15-6=9 Ans.
(d)16x5-4x3+8=80—-12+8=88-12=76 Ans.
5 1 4 3 5 1 4 1 6
@2 +3of2r=exda=2e
9 6 559 6 5 31
:ﬂ+z 4r10_14_,4
5 5 5 5 Ans.

(F)19—40% - +15+3=19—40x L +5=19—4+5
10 10

=24-4=20 Ans.
(8) 125 +[22 —{26 +5x10}]=125+[22 — {26 +50}]
=125+[22-76]=125-54="171 Ans.

M) (50—12)x [24 + (4 +4)]=38x[24+8]=38x3=114  Ans.

2. (@)25+5%x7+22-3x(6+4)=5x7+22-3x10
=35+22-30=57 -30=27 Ans.

oo 331

3.

5

7 3 1 18 7
=—X|64+<=— —=_
8 4 12 5 8

Pl
[t
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X 6+§
12

7 g 7
8 }58{
7 [18+2] 18 7 20
_8{ ]583
2
25

S

5 175 67
1

3 8 108 108
SERA EREIHE
5 5 4 5 25
2

(33,8),(13).2 35,13, 25_33x65
5 20 5 20 28

2145

=7=2687
8 8
O Lealfortn2 S (LTt 5.8
6 4 5 3 6 (6 4 5 36
1 4 4 5 5 2 4.5 5 8 35
=l =x—|of—+Z+Z="x—+4+Z=——xZ+=
(6 17] 6 51 53 6 255 5 6

5 3

24 +5 144 +6375 6519 2173
1275 6 7650 7650 2550

() 85-28+7x16—-11=85-4x16—-11=85-64-11
=85-75=10

(H)10x8-5+20x6—-15+48 +3+24=80—-5+20x6—-15

+16+24

=80-5+120-15+16+24=240-20=220

6. Factors of Multiples

Exercise 6 A

Ans.

Ans.

Ans.

Ans.

Ans.

1. (1,2,4,8 (b)1,5(c)1,3,7(d)1,2,3,4,6,8 (e)1,5,7

1,2,3,6,7 (g)1,2,4,5,8,10

2. 1,5 ®1,2,3,4,6,12 (c)1,2,4,5,10,20
(d1,2,11,22 (e)1,2,4,8, 16,32
1,2,3,4,5,6,10, 12, 15, 20, 30, 60

3. (a)3x11=33,s0 3 and 11 are factors of 33
(b) 4x6=24, so 4 and 6 are factors of 24.
(c)6x7=42,s0 6 and 7 are factors of 42.

4. (a)18+3=6
18 is completely divisible by 3.
Hence, 3 is a factor of 18.

Progress With Maths-5

17



(b) Dividing 14 by 4
3
4) 14
—12
2

2 1is left as the remainder.
Hence, 4 is not a factor of

14.
(c) Dividing 48 by 5.
9
5) 48
45
3

9 is left as the remainder.
Hence, 5 is not a factor of

48.
(d)96+8=12
96 is completely divisible
by 8.
Exercise 6 B
1. (a) 56

112

Hence, 8 is a factor of 96.
(e) Dividing 70 by 11.
6
11) 70
-66
4

4 is left as the remainder.
Hence, 11 is not a factor of 70.

(H112+14=8
112 is completely divisible
by 14.
Hence, 14 is a factor of 112.
5. (a)23 (b) 61 (c) 83
(d) 101
6. (a) 19 (b) 37 (c) 59
(d) 67

7. @A)No (b)1 (c)2
(d)2 ()2,3

(b) 144

144

2. (a)36 (b) 21 (c) 78 (d) 63
36 21 78 63
N A AN AN
2x 18 3x7 2x 39 3 21
7N 7N 7N
2></2>< 2x3x13 3 3x7
2x2%X3x%x3
18 Progress With Maths-5



3. (@)112=2x%x2x2x2x7
() 72=2%x2%x2x3x3

4. (a)C (b) P (c)C (d)C (e)C HP

(2P (P @) C
Exercise 6 C

1. (a)4,8,12,16 (b) 10, 20, 30,40  (c) 15, 30, 45, 60
(d) 20, 40, 60, 80  (e) 16, 32, 48, 64

2. (@) Yes (b)No (¢)No (d)No (e)Yes (f)No
(g) Yes (h)No (i) Yes

3. () 11,13,17,19  (b) 14, 15, 16, 18, 20, 21, 22
(c) 29, 31

4. (a)8 (b) 3,6, 8 (c) 24

5. ()1,2,3,4,6,9,12,18,36 (b)1,2,3,4,6,8,9,12, 18,

24,36, 72
(©)1,2,3,5,6,10, 15, 25,
30, 50, 75, 150
6. (a)28,35 (b)4,8,12,16 (c) 83, 89

()150=2x3x5x5 ()165=3x5x11

(d) 26, 27, 28, 30, 32, 33, 34

Exercise 6 D
1. (a)6=2x3and12=2x2x3 (b)
Common factors are 2, 3.

~HCF =2x3=6

2184 2 196
2142 2 |48
3121 2 (24
717 2 (12
2l
ENE
1
84=2%x2x%x3x7

(1)90=2x3x%x3x%x5
(d)144=2x2x2x2x3x%x3

96=2x2x2x2x2x3

Common factors are 2x2x 3

S HCF =2x2x3=12
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© 3035 3225
3 145 3 (75
3115 5 (25
515 515
| 1
135=3x3x3x5
225=3x3x5x%x5
Common factors are
3x3x5.
S HCF =3x3x5=45
(d) 3 45 75 2 100
3 15 25 2 50
5 5 5 5 25
5 |5
1
45=3x3x5
75=3x5x%5

100=2x2x%x5x%x5
Common factors is 5.

HCF =5
@) 2 | 108 2 |144
2|54 2 |72
3 (27 2 |36
309 2 |18
3 (3 3 |9
1 313
1

108 =2%x2x3x3x3; 144=2x2x2%x2x3x3
Common factors are 2x2x3x 3.
SHCF =2%x2x3x3=36
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(2

[ [ 2] [

el el Sl

— W [O || Wn
|

60
30
15

[ e |t [

RN
1

48 =2%x2x2%x2%3;54=2x3%x3x3;60=2%x2%x3x%x5
Common factors are 2 x 3.

~HCF =2x3=6,
5[175 3 [225
5135 3175
717 525
1 5

575
115
23

1

DN | |
W

175=5%x5x%x7; 225=3x3x5x%x5;575=5%x5x%x23
Common factors are 5 x 5.

~HCF =5x5=25
&) 5175
5 [35

0 g

7

il el

175=5%x5x%x7;225=3x3x5x%x5
Common factors are 5 x 5.

HCF
REESE
2P

1

=5x5=25

2]
3]
S

— o= W
O | O

225
75
25
5
3l
5 [as
5

25=5%x5;30=2%x3x%x5;75=3x5x%x5
Common factors are 5.

~HCF =5

Progress With Maths-5

21



O 2 Jize 2 |2s6 2 |448
2 68 2 [128 2 [224
2 |34 2 |64 2 [112
17 17 2 |32 2 [56

1 2 |16 2 |28
JE 2 |14

2 |4 7 |7

2 1

136=2%x2%x2x17;256=2%x2%X2X2x2x2x2x%x2
448 =2 x2x2x2x2x2x7
Common factors are 2 x2 x 2.
JHCF =2x2x2=8
2. (a) Factorsof 9 are 1, 3, 9.
Factors of 15 are 1, 3, 5, 15.
Common factors of 9 and 15 are 1, 3.
(b) Factorsof 12: 1,2, 3,4, 6, 12
Factors of 48 : 1,2, 3,4, 6, 8,12, 16, 24, 48
Common factors of 12 and 48 are 1, 2, 3, 4, 6, 12.
(c) Factors of 105 : 1, 3, 5,7, 15, 21, 35, 105
Factors of 120 : 1,2, 3,4, 5, 6, 8, 15, 20, 24, 30, 40, 60, 120
Common factors of 105 and 120 are 1, 3, 5, 15.
(d) Factors of 77 : 1,7, 11, 77
Factors of 88 : 1, 8, 11, 88
Factors of 66 : 1,6, 11, 66
Common factors of 77, 88 and 66 are 1, 11.
(e) Factors of42:1,2,3,6,7, 14,21, 42
Factors of 56 : 1,2, 4,7, 8, 14, 28, 56
Common factors of 42 and 56 are 1, 2, 7, 14.
(f) Factors 0of 30 : 1, 2, 3, 5, 6, 10, 15, 30
Factors 0of20: 1, 2, 4, 5, 10, 20
Factors fo 25 : 1, 5, 25
Common factors of 30, 20 and 25 are 1, 5.
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Exercise 6 E
L. (a) 27) 42(1

Hence, the H.C.F. of 27 and 42 =3 Ans.

(b) 45) 90(2
—90
0

Hence, the H.C.F. of 45 and 90 =45 Ans.

(©) 119) 187(1
119
68 119(1

Hence, the H.C.F. of 119 and 187 =17 Ans.

(d) 70) 560(8
560
0

Hence, the H.C.F. of 70 and 560 =70 Ans.
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Hence, the H.C.F. of 36 and 63 =9 Ans.
(® 63) 96 (1

Hence, the H.C.F. of 63 and 96 =3 Ans.

(2 49) 147(3

—-147
0

Hence, the H.C.F. of 49 and 147 =49 Ans.

(h) 84) 144 (1

~84

605 8421

-60

245 60(2

~438
12) 24(2
~24

0

Hence, the H.C.F. of 84 and 144 =12 Ans.
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(i) 1944) 2376(1

—-1944
432) 1944(4
—-1728
216) 432(2
-432
_ 0
Hence, the H.C.F. of 1944 and 2376 =216 Ans.
) 506) 2541(5
-2530
11)506 (46
-44
66
-66
0
Therefore, the H.C.F of 506 and 2541 is 11.
Now, 363
11 ) 3993
-33
69
-66
33
-33
0
Hence, the H.C.F of 506, 2541 and 3993 is 11. Ans.
(k) 450) 675 (1
-450
225) 450(2
-450
0
Therefore, the H.C.F of 450 and 675 is 225.
225 ) 2025 f9
-2025
_ 0
Hence, the H.C.F. 0f 450, 675 and 2025 is 225. Ans.
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1)
1449) 2346(1
1449

897)1449(1
~897
552) 897(1
~552
345) 552(1
~345
207) 345(1
~207
138) 207(1
~138
69) 138(2
~138
0

Hence, the H.C.F. of 1449 and 2346 is 69. Ans.
197

69)13593
-69
669
-621
483
-483
0

Hence, the H.C.F. of 1449, 2346 and 13593 is 69. Ans.

Exercise 6 F
1. (a) Multiples of 4 : 4, 8, 12, 16, 20, 24, 28, 32, 36, 40, ...
Multiples of 6 : 6, 12, 18, 24, 30, 36, 42, 48, ...
Common multiples are 12, 24, 36, ...
Hence, least common multiple is 12.

(b) Multiples of 6 : 6, 12, 18, 24, 30, 36, 42, 48, 54, 60, ...
Multiples of 8 : 8, 16, 24, 32, 40, 48, 56, 64, 72, 80, ...
Common multiples are 24, 48 ...

Hence, least common multiple is 24.
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(¢) Multiples of 3 : 3, 6,9, 12, 15, 18, 21, 24, 27, 30, ...
Multiples of 9 : 9, 18, 27, 36, 45, 54, ...

Common multiples are 9, 18, 27, ...
Hence, least common multiple is 9.

(d) Multiples of 5 : 5, 10, 15, 20, 25, 30, 35, ...
Multiples of 10 : 10, 20, 30, 40, 50, 60, ...
Common multiples are 10, 20, 30, ...

Hence, least common multiples is 10.

(e) Multiples of 5 : 5, 10, 15, 20, 25, 30, 35, 40, ...

Multiples of 7 : 7, 14, 21, 28, 35, 42, 49, ...

Common multiples are 35, ...

Hence, least common multiple is 35.

2 @511 24
319 2112
313 216
1 3
18=2%x3x%3
24=2x2x2x3

LCM =2x3x3x2x2=72
Hence, LCM of 18 and 24 is

© 5 160 84
2130 2142
3115 21
515 7
N

60=2x2x3x5

84=2x2x3x7

LCM =2x2x3x5x7 =420

Hence, LCM of 60 and

72. Ans.
(b)Z 12 18

216

3(3 3(3
12=2x2x3
18=2x3x%3

LCM =2x3x2x3=36
Hence, LCM of 12 and
18=36 Ans.

84 =420 Ans.
(d)2 24 36
2112 18
216 9
3 3
24=2x2x2x3
36=2%x2x3x%x3

LCM =2x2x2x3x3=72
Hence, LCM of 24 and

Progress With Maths-5
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27



28

© 532

2148
2116 2124
218 2112
214 216
2 3

32=2x2x2x2x2
48=2x2x2x2x3
LCM
=2x2x2x2x2x3=96
Hence, LCM of 32 and

48 =96 Ans.
® 2160 2172

2130 2136

315 2118

515 319

3

60=2x2%x3x%x5
72=2%x2%x2x3x3
LCM

=2x2x3x3%x2x5=360
Hence, LCM of 60 and

72 =360 Ans.
@530 240

3115 2120

515 2 (10

S5
1

30=2x3x5
40=2x2x2x5

LCM =2x2x2x3x5=120

Hence, LCM of 30 and
40=120 Ans

(h)z 30 2142
3 (15 3 (21
515 717

1

30=2x3x5

42=2x3x7

LCM =2x3x5x7=210
Hence, LCM of 30 and

42=210 Ans.
Doliz 3]s
216 515
313 1
1
12=2%x2x3
15=3x%5

LCM =3x2x2x5=60
Hence, LCM of 12 and
15=60 Ans.

3127
319
313
1 1
81=3%x3x3x3
54=2x3%x3x%x3
LCM =3x3x3x3x2=162

Hence, LCM of 81 and 54
is 162. Ans.

54
27

W W |W N
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(k)

2l0 2o 2]120
230 34 2[60
shs 0 3]s 2[30
sls s]s BIE

1 1 RIE
1
60=2x2x3x5
90=2x3%x3x%x5
120=2x2x2x%x3x5
Hence, LCM of 60, 90 and
120=2x3x5x2x2x3=360 Ans.

O 2fie 2] 2|36
25 21 213
2la 2] 3l
22 EIE B

1 1 1
16=2x2x2x2
24=2x2x2x3
36=2x2x3x3

Hence, LCM of 16,24 and 36 =2x2x2x2x3x3=144 Ans.
(m)

2 (12 218 2124
216 319 2112
303 313 216
1 1 3[3
1
12=2%x2x3
18=2x3x%3
24=2x2x2x3
Hence, LCM of 12, 18 and 24 =2x2x2x3x3="72 Ans.
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Exercise 6G (©

3 (30,36, 45
1@ 5 140, 45,75 210,12, 15
3(8,9,15 5]5,6,15
38,3, 5 311,63
508, 1,5 21,21
2[8,1,1 11,1
24,11 ~L.CM.
2102,1,1 =3x2x5x3x2=180 Ans.
L 1,1 D5 1112, 126,336
- L.C.M. 2 |56, 63,168
=5x3%x3x5%x2x2%x2=1800 2 |28, 63, 84
o Ans. 2 |14, 63,42
2 |96, 144, 160 7 17.63,21
2 148,72, 80 3 11,9,3
2 |24, 36,40 3 11,3,1
2 |12, 18,20 11,1
2 16,9, 10 ~L.CM.
313,9,5 =2x2x2x2x7x3x3=1008
311,3,5 Ans.
5 1.1.5 © 372,126,135
L1,1 3|24, 42, 45
~LCM, 2|8, 14, 15
=2x2x2x2x2x3%x3%x5 214,7,15
=1440 Ans. 2 2, 7, 15
711,7,15
51,1, 15
301,1,3
L1,1
~L.CM.
=3x3x2x2x2x7Tx5x%x3
=7560 Ans.
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® 5 ]108, 144, 164 (h)
2 |54,72,82 2 [136,102,85,51,34,170
3 (27, 36, 41 17 |68,51,85,51,17, 85
3 19,12, 41 3 14,3,5,3,1,5
3 13,4,41 5 14,1,5,1,1,5
2 |1,4,41 2 14, 1,1, 1,1, 1
2 11,2,41 2 12,1,1,1,1,1
4101, 1,41 1,1,1,1,1,1
1,1,1 - L.CM.
LoM “2TadaSxaz
=2x2x3x3x3x2x2x41
=17712 Ans.
©® 5 |36,48,60,72,100 @
2 |18, 24, 30, 36, 50 2 14,6,8,12,16,15
319,12, 15,18,25 2 2.3, 4. 6.8, 15
3 (3,4,5,6,25 211,3,2,3,4,15
2 11,4,5,2,25 211,3,1,3,2, 15
2 11,2,5,1,25 311,3,1,3,1,5
511,1,5,1,25 511,1,1,1,1,5
5 11,1,1,1,5 ,1,1,1,1,1
L1,1,1,1
-.L.C.M. - L.CM.
=2x2x3x3x2x2x5x%x5 =2x2x2x2x3x5=240 Ans.
=3600 Ans
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Exercise 6H

1.

5. Other number =

First number x second number _20x30

H.C.F. 10
.. L.CM. =60 Ans.
HCF. - Product of two number _ 1536 _16

L.C.M. 96
.. H.C.F. =_16 Ans.
LCM. = First number x second number _ 12x16 _48

H.C.F. 4
.. L.CM. =48 Ans.

L.CM. =

H.CF.xL.CM. 29x435

First number 87

.. The other_number =145 Ans.
LCM. = First number x second number _ 1232 x1617 —95872

H.C.F.
- L.C.M. =25872 Ans.
First we find the LCM of 12, 24 and 36.
12, 24, 36
6,12, 18
3,6,9
1,2,3
1,2, 1
1,1,1
LCMof 12,24 and36=2x2x3x3x2=72
Hence, the smallest number =72 +5="77 Ans.

=145

[\OJ) HUSI RUS I B \O 3 I \O]

Exercise 61
1. (a) In 3500 unit place digit is 0. So, it is divisible by 2, 5 and 10.

32

(b) In 105 unit place digit is 5. So, it is divisible by 5.

(¢) In 2100 unit place digit is 0. So, it is divisible by 2, 5 and 10.
(d) In 2705 unit place digit is 5. So, it is divisible by 5.

(e) In 1690 unit place digit is 0. So, it is divisible by 2, 5 and 10.
(f) In 1780 unit place digit is 0. So, it is divisible by 2, 5 and 10.
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. (a) Sum of the digits of1024=1+0+2+4=7
7 is not divisible by 3. So, 1024 is not divisible by 6.
hundreds, tens and ones digit of 1024 is 024 which is
divisible by 8. So, 1024 will be divisible by 8.

(b) In 618 unit place digit is 8 which is divisible by 2.
Sum of the digiti of 618 =6+1+8=15
15 is divisible by 3. So, 618 will be divisible by 3.
-+ 618 is divisible by 2 and 3. So, 618 will be divisible by 6.
618 is not divisible by 8.

(c) 7688 is divisible by 2 but not divisible by 3. So, 7688 is not
divisible by 6.
In 7688 hundreds, tens and unit place digit is 688
688 is divisible by 8. So, 7688 will be divisible by 8.

(d) 8016 is divisible by 2.
Sum of the digits 0of8016=8+0+1+6=15
15 is divisible by 3. So, 8016 is divisible by 3.
8016 is divisible by 2 and 3. So, 8016 will be divisible by
2x3=6.
In 8016 hundreds, tens and ones place digit is 16 which is
divisible by 8. So, 8016 will be divided by 8.

(e) 516 is divisible by 2 and 3. So, 516 will be divisible by
2x3=6.
516 is not divisible by 8.

(f) 8152 is divisible by 2 but not divisible by 3. So, 8152 is not
divisible by 2x3 =6.
In 8152 hundreds, tens and oines digit are 152.
152 is divisible by 8, So 8152 will be divisible by 8.
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7. Fractional Numbers

Exercise 7TA

_(6x5)+1_30+1_31

1. (a) 6 =
5 5 5 Ans.
(b)loz (10x3)+2 _30+2 _32
3 3 3 Ans.
()37 (8x3)+7 _24+7 31
8 8 8 Ans.
(d)81 (8x6)+1_48+1_49
6 6 6 Ans.
2. (a)—:lOl Ans. (b)gzlog
4 4 5 5 Ans.
(c)8l=6i Ans. @2 =47
14 8 8 Ans.
3. (a )ﬁ 6416 [ HCF of 64 and 80 is 16]
80 80+16
_4
> 4
Hence, the required lowest form is —.
5 Ans.
(b) 60 _60+4 [ HCF of 60 and 92 is 4]
92 92+4
23 5
Hence, the required lowest form is —.
23 Ans.
(c )@ 35050 [HCF of 350 and 400 is 50]
400 400+50
_7
s 7
Hence, required lowest form is —.
8 Ans.
(d)ﬁ:MSTS [+ HCF of 315 and 320 is 5]
320 320+5
63
64 6
Hence, required lowest form is —.
64 Ans.

34
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4 ()g 2x2_ 4 2x3_ 6 2x4_8
5x2 10°5x3 15 5x4 20
8

.. Three equivalent fractions are 4 , 6 and —
15 20 Ans.
()7 3x2 6.3 3x3 9 3 3x4 12

7 7x2 147 7x3 2I'7 7x4 28

.. Three equivalent fractions are 6 , 9 and 12

21 28 Ans.
Ix2 2 1x3 3 1x4 4

(c )3 5x2 10 5x3 15 5x4 20

.. Three equivalent fractions areg ia d— 4
015 20 Ans.
d )§ 3x2_6.3x3_9 3x4 12
8 8x2 16 8x3 24 8x4 32
6 9 12
..Three equivalent fractions are —, — and —
6 24 32 Ans.
17 (c) 4—< 5i
19 9 11

18 16, 11

5. (a) —>—(b) —=<

()193 171()13
d)6=<8=
(d) e <85

6. (a) L.C.M. of 15,9, 4,30 and 12 is 180.
8 _8x12 96 7 _7x20 140 3 _3x45 135,

15 15x12 180°9 9x20 180 4 4x45 180
19 19x6 114 11 _11x15 _165

30 30x6 18012 12x15 180 Ans.
165 140 135 114 96
Descending order are ——>—>——
180 180 180 180 180
Hence, Descending order are i > ! > E 19 8
12 9 4 30 15 Ans.

(b) L.C.M. of 9, 18, 6, 12 and 10 is 180.
gzzxzozﬂ‘EZSXIO :570‘§:5X30:@‘
9 9x20 18018 18x10 1806 6x30 180
7 _7x15 105 9 _9xI8 _162
12 12x15 18010 10x18 180

..Descending order are @ @ 105 50 40

180 180 180 180 180 Ans.
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Hence, Descending order are 19> é 7 > i

6 12 18

7. (a) LC.M. of 4, 2, 8, 7 and 14 is 56.

8. @+ te=T ==l
4 6 60 60 30
by S 471210421496 127 .7
12 8 3 24 24 24
17,26 _200+255+312 _767 _,, 47
(0017, 26 =12
3740 60 60 60
(@13,19,22 1954954132 _422_,,2 _,,
2 6 5 30 30 30
9. (a)§-2=20"3_5_714
771 71 7
(b)4—g:20_2 18 _ 3§
5.5 55
(@15 3 _120-27_93 31
18 16 144 144 48
@31 13_186-65_121_, 1
5.6 30 30 30
36

3 _3xl14 421 _Ix28 28 5 5x7 35

4 4x14 562 2x28 56 8 8x7 56
4_4x8 32 3 _3x4 _12
7 7x8 56 14 14x4 56

.Ascending order are ;2< § 2 35 42

56 56 56 56

Hence, ascending order are 1?;< ;< ﬂ >3

7584

(b) L.C.M. of 15, 5, 12, 6 and 20 is 60.
13 13x4 524 4x12 _48 7 _7x5

2

9.

—_ 35.

15 15x4 605 5x12 6012 12x5_@’

5_5x10_50 11 _11x3 _33
6 6x10 60 20 20x3 60

..Ascending order are §< E ﬁ 50 52

60 60 60 60

Hence, ascending order are ;(1)< —

125615

2 3 3 24+45+30 99 39

74513

1

15

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.
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()@ 17:101—68=§_22
3 12 12 12 Ans.
(f)g 181_274—181 93 _3 3
30 30 30 30 Ans.
Exercise 7 B
L (@)2x4=22%_8 Ans. () 12x65=12x5=60
9 9x1 13 ans.
3 3 3
(c)>x5=> Ans. (@) = x44=3x4=12
20 4 Ans.
(e)£x32=6x2=12 Ans. (f)3 ><8—1—5><8 15%x2=30
16 4 Ans.
(g)3§x10=2—7x10—13—5=33§
8 8 4 4 Ans.
(h) 62 x15=>2x15=96
5 5 Ans.
()32 x18="20 4 18=172_571
27 27 3 3 Ans.
(J)4i 25—@ 25=103
25 25 Ans.
()82 x64=123 x64=532
16 16 Ans.
)63 x35=% 4 35-45x5-225
7 7 Ans.
Exercise 7 C
3.4 3x4 12 16 14 16x14 224
L (@)2x (b) et =m0
5 7 5><7 35 15 17x15 255 Ans.
5 24 5><24 3 2 6 2x6 4
(02 2=l Ansd) e
15 8 15 3 7 3><7 7 Ans.
oal A7 417
4 5 4 5 5 5 Ans.
(f)lf 42 17 19 323 835
4 9 4 36 36 Ans.
l 24 34 24 816 52
(g)3—x =4—
11 15 11 15 165 55 Ans.
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(62wt 220,18 _20x6 1201
3 7 3 7 1x7 7 7 Ans.
(351 1223, 18_23x3_69_, 1
6 17 6 17 1x17 17 17 Ans.
)3hx2o22, 1 242 ;53
7 9 7 9 63 63 Ans.
(k)lile B _143_,23
5 12 5 60 60 Ans.
FLIPINE ML - Bt
5 2 5 10 10 Ans.
Exercise 7D
1 (@)4tx3lxal 22, 16,5 98 4 4 36
2 2 2 5 2 Ans.
(b)31 5 1 1317 3_663_ 29
12 2 4 12 2 96 32 Ans.
()Q 26 6_12x26 13 _4x26_104 _ 41
13 27 7 13x27 7 9x7 63 63 Ans.
(d)3f 1 20 11 9 20 _1x9x5_45_
4 33 3 4 33 3><1><3 9 Ans.
(e)l—x1§x1§ 19 17 7_2261_,533
16 9 4 16 9 4 576 576 Ans.
(06 xa2xal 13,1429
2 7 2 3 7
_13x2x29 _13x29_377 _,,.2
2x3x1 3 3 3 Ans.
(g)2g 1,1 16 16 13 3328 . 73
3 7 5 3 105 105 Ans.
@67 52 4119 24 17 _19x6x17 1938 . 8
11 4 3 11 4 3x11x1 33 11 Ans.
@it bl 1,35,7 265 8
17 4 3 17 4 204 204 Ans.
Exercise 7E
1. Cost of 1 litre diesel = ?555 = ?1211

38
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..Cost 0f6; litre =123 litre diesel

L1 13 TS g3
2 2 4 4 Ans.

Cost of a ticket = ?25; = ?521

..Cost of 10 tickets = ?ﬂ x10=351x5=73255
2 Ans.

Passed students =100 x 2 =20x3=60

..Failed students =100 —60 =40 Ans.
Salary gave his father = Z12000 x ; — 21500% 7= 210,500

Saved salary = ¥12000 — ¥10500=1500 Ans.
Students like to play cricket =45 x i =9x2=18

Students like to play football =45 x ; =9

Students like to play both games =(18 +9) =27

..Students don’t play any game =45-27 =18 Ans.

Spent money on clothes = 31500 x 130 =3450

Spent money on costmetics = ¥1500 x i =13600

Total spent money = ¥450 + 3600 = 1050

..Left money = 31500 — %1050 = ¥ 450 Ans.
Milk consumed in a week :13l x71 :% x71=921
7 7 Ans.

Cost of 1 m ribbon = ?261 = ?@

4 4
) . 105
.. Cost of 8 mribbon =3—x8=3105x2=73210

4 Ans.

Exercise 7F

1.

7 7 28 196

1 1 1

Ans. ) Ls12= L Lo 1
16~ 16 12 192 Ans.
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40

(c)i+5=

1 1 1
2=

Lol Ans. (d)16+-L =16x13=208
12 5 60 13 Ans.
<>E 7020
10 5 7 1 1
o721 0 17 s o s
18 32 18 21 9 21 189 189 Ans.
15,15 15 16 1 8 8 Ans.
18 16 18 1 9 1 9
M dogg=d o4 _2
9 9 18 162 81 Ans.
(i)i+10=i><i:L Ans.
15 10 150
0)2 l % Q 20
7 10 7 7 49 Ans.
(00:2.6,5.3.5 1,55 2
9 592 91 3 1 3 3 Ans.
(1)67 )2.32.8_32 3 _4x3_12_,2
35 3 5 8 5x1 5 5 Ans.
()ﬁ 27 33 4 _ 11 1_11
T4 827 29 18 Ans.
5B.7. 8,2 B 1.5 9
4 2 4 7 2 7 14 14 Ans.
11 11 31 3 3 1
()* —=—X—=—x—=—=]-
3 2 11 21 2 2 Ans.
()@ 10203 21,
33 10 1 1 Ans.
13 9 13 8 13 2 26 8
() —+Z=—x—=—x==""=2—
4 8 4 9 1 9 9 9 Ans.
(f)§+§:§xﬂ:1xg:2
2 4 2 5 11 Ans.
@l 21,9 1,3 5
9 3 37 1 37 37 Ans.
10 10 9 1 3
()* — =X —=-X—=
9 3 10 1 1 Ans.
()§ 29 8 148 2 16
14 7 29 1 29 29 Ans.
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17.26_17 6 _17 3 sl

0)7 6 526 5 13 65 Ans.
()Q 4_19 3_57_25
38 4 32 32 Ans.
11 13 11 5 11
g+ o=pxi=r
5 5 13 13 Ans.

Exercise 7G
1. 9 tins hold oil —30— 1 —?1

.1 tin hold oil = g =9 l—gl = g1:321
4 4 9 36 36

Hence, 1 tin hold oil —3; |

Ans.
2. Cost of3; kg sweets = ¥ 290

~.Cost of 1 kg sweet =% 290+3; =X 290+%

=3 290x E—?S—%—?SZQ
7 7 7
Hence, cost of 1 kg sweet =% 82g
7 Ans.
. 80 .
3. Fraction=— [ ¥ 5=500paise]
500
_8_4
50 25

Hence, the required fraction is ;5

4. Product of two numbers = 4; =133

Ans.

One number =5

13

..Other number =— +5 =—3 S 13
3 3

113
5 15
. 13
Hence, other number is —.
15 Ans.
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5. A bus travelled in 6411 hr =246 km
. 1 25
.. A bus travelled in 1 hr =246 km +6Z =246km +I
=246kmxi=%km=392km
25 25
Hence, a bus 392 km it travels in 1 hour.
25 Ans.
6. Number of pieces cut=16m+:m=16x3:4x5=20
Hence, the number of pieces =20 Ans.
7. Price 0f31m of cloth=% 70é =X 283
2 4 4
Price of 1 m of cloth=% @+31= 3 @—Z
4 2 4 2
S 83,2 228 _2p02
4 7 14 14
Hence, the cost of I mclothis 20i
14 Ans.
8. Each child got sweet =6% kg +9=¥ X 132 k
5 5 9 45
Hence, each child got 32 kg sweet.
45 Ans.
Math Lab Activity
37 1 14 _4 17 .3
1. (a) —=12- b) —=2— c)—=2=
(a) 3 3 (b) s 72 (©) S =2
43 10
d)—=3—
@ 11 11
2 4 6 3 6 9 4 8 12
2 @o=" 0 D=, (©m=,
7 14 21 8 16 24 13 26 39
7 14 21
(d) — =,
10 20 30
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6 15 12 3 13 12 6 3
3. (a) —<—= b) =>— c)—>— d)l1=>=
()21 7 ()15 17 ()8 9 ()72
6 12 14 28 17 34 43 86
4. (a) —=— b)) —=— c) —="— d—=—
()11 22 ()5 10 ()7 14 ()11 22
2 2 4 15 8 7
5. @)=+==— b)—-—=
()5 5 5 ()17 17 17
12 4 8 3 6 18
c) ———= d) =x—=-=
()15 15 15 ()11 5 55

Skill Test-2
A. 1.0)6 2. 11 3.(c)54 4.(d)29 5.(b)18 6.(b)6

2 1 5
742 8.®)2 9.5 10.0)4 110

8. Decimal

Exercise 8 A

1. (a) Twenty three point six nine. (b) One point zero three.
(c) Four point three seven. (d) Four point seven eight.
(e) Six point four.  (f) Thirty one point three four eight.
(g) Seventeen point eight one.
(h) Twenty-seven point three five.
(i) Twenty one point zero one one
(j) Sixty-three point two zero nine.
(k) Thirty five point eight.
(1) One hundred eighty seven point three one two.

2. ()0.85 (b)0.365 (c)1.92 (d) 12.068(e) 32.502
(f) 112.389

3. (a) Six and five tenths =6 +150 =6+05=65

(b)18+130:18+03:183

(©) 1242 =124029=1229
100

)2+ 2.40054=2054
1000
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(e)180+13060—180+036 18036

() 508 +ﬁ =508 40254 =508254
1000

(a) Three point eight seven. (b) Four point five six.

(c) Two point four. (d) Twelve point three four six.
(e) Thirteen point four five six. (f) Twelve point zero nine.

(g) Three hundred seventeen point one eight five.

(h) Eight point five one three.

(i) Three hundred sixty three point four two five.

(j) Seventeen point zero eight two.

(k) Three hundred fifty eight point three one two.

(1) Three hundred fifteen point two six.

Exercise 8 B

1. (a)6+160 =6+06=66

Ans.
(b)5 +— +i =5+03+002=532
10 100 Ans.
()80 46+ +—> =80+6+09 +005=8695
10 100 Ans.
(d) 20+8+i i +L =20+8+01+004 +0006=28146
10 100 1000 Ans.
3041+ 230107 +004=3074
10 100 Ans.
(H)80+3 +i +i =80+3+0.03+0005=83.035
100 1000
Ans.
2. (a)6+08=68 (b)19+03 +005=1935
(c)80+5+08+006=85+086=8586
(d)60+8+09+009=68+099=6899
() 03+003+0003=033+0003=0333
()20 +003 +0008 =20 +0038 =20.038
(g) 700 +60+5+03 +006+0008 =765 +0368 = 765368
(h) 600+20+4+06+009 +0008 =624 + 0698 =624.698
3. (a )% 2X2_3 _04 Ans. (b)>=222-0_,
5x2 10 5 5x2 10 Ans.
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()2 325 @—1.60A (d)— 6x5 &:
20 20x5 100 20 20x5 100 Ans.
6x4 24 28 28x4 112
(&) 2= 2% - 2% _g54 Ans. (122 =
25 25x4 100 25 25x4 100  Ans.
(@30 - 39%5 195 o
200 200x5 1000 Ans.
46 46x2_92 o
50 50x2 100 Ans.
7 Z17X2_34 o ans )3 23X125_375 _
50 50x2 100 8 8x125 1000 Ans.
(0819 _619x2 1238 )0
500 500x2 1000 Ans.
12 =2X125_625 4675 Ans.
8 8x125 1000
4. (@58=2-2_5% Ans. (b)385=22>_77 _33!
0 5 5 10 2 Ans.
©6149=1% _6142  Ans.(d)638=338 -3 _¢19
10 10 100 50 50 Ans.
(©)9463= 2303 94 03 Apg. () 83284 = 83284 _g3, 84
100 100 100 100
Ans.
(2)6056 =96 _6 56 Ans. (h) 74958 = 74938 _ 74938
1000 1000 1000 1000
Ans.
(i) 552605 = 352605 _ 5 605
1000 1000 Ans.

5. (a) 38=3+08

(¢) 6819=60+8 +01 +009

(b)1934=10+9+03 +004
(d)3580=30+5+08+0

(€) 19998 =10+9+09 +0.09 + 0008

(1) 35308=30+5+03+0+0008
(g)32164=30+2+01+006+0004
(h)17382=10+7 +03 +008 + 0002
(1)617389=600+10+7 +03 + 008 +0.009

9
6. (a) —=0.9
@

35
d)—=0.35
( )100

Progress With Maths-5

(b)¥=3.8
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)~ =0.44
( )100

16
—=0.16
(f)lOO
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356 813 38

2220356 (h)——=8.13 i)—=>=0.038
® 000 ™00 D 000
13 153 263
—2-0.13 K) -0 =0.153 () == =0.263
D00 1000 D 000
m2=395 @)230_3586 (020 =261
10 100 100
124
—= —0.124
®)1000

Exercise 8 C
1. (a) Like decimals are 4.7, 1.8; 5.14, 3.01

(b) Like decimals are 25.1, 1.6; 1.09, 9.80

(c¢) Like decimals are 2.56, 1.09; 416.801, 52.893

(d) Like decimals are 342.711, 4.181; 686, 323.02

(e) Like decimals are 3.45, 813.44; 713.245, 643.381

(f) Like decimals are 878.351, 10.345; 9.35, 786.38

2. (a) The maximum digits after decimal point is 3.
~133=13.300, 415=4.150, 6.78 =6.780 and
18398 =18.398
Hence, required like decimals are 13.300, 4.150, 6.780 and
18.398. Ans.

(b) The maximum digits after decimal point by 3.
~516=5160,56=5.600,5661=5661and 2136 =2136
Hence, required like decimals are

5.160, 5.600, 5.661 and 2.136. Ans.

(¢) The maximum digits after decimal point is 3.
~15=1500,321=3210, 648 =64.800, 7.895 = 7.895
Hence, required like decimals are
1.500, 3.210, 64.800, 7.895 Ans.

(d) The maximum digits after decimal point is 3.
1634=16340,148 =14800,17961=17961,3126=3126
Hence, required like decimals are

16.340, 14.800, 17.961 and 3.126.

(e) The maximum digits after decimal point is 3.
.79=7900,261584=261584,23.02=23020,18363 =18363
Hence, required like decimals are

7.900, 261.584, 23.020 and 18.363  Ans.
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(f) The maximum digits after decimal point is 3.
.. 66616=660616,661=6610,61=6100,17.382=17382
Hence, required like decimal are
66.616, 6.610, 6.100 and 17.382.

Exercise 8 D

1. (a)821>6.6 (b)2.62<3.268  (c)22.51 <32.49
(d)96.5>26.50  (e)3.497<7.56  (f)1.6<2.156
2. (a)6856=20 497 =497 34013601
100 10 100

Now we convert given fractions into same denominatoir as 100.
6856 497 497 x10 4970 3601

100" 10 10x10 100 ~ 100

L.C.M. of 100, 10 and 100 is 100
3601< 4970< 6856

100 100 100

Hence, ascending order are 36.01 <49.7 < 68.56 Ans.

(b)1185 =183 3055 3098 455 1580
100 100

100
1185 1580 3058
< <

100 100 100

Hence, ascending order are 11.85 < 15.80 < 30.58 Ans.

C . -, O=—", .. =
12758 12758 378 328 2759 2259
1000 10 100

(12758 328 328x100 32800 2259 2259x10 22590

10007 10 10x100 10007 100 100x10 1000

L.C.M. of 1000, 10 at 100 is 1000.
12758< 22590< 32800

1000 1000 1000
Hence, ascending order are 12.758 <22.59 <32.8 Ans.

(d)6505=299 6050 =900 55250
1000 1000°" " 100
6505 6050 250 25010 2500

1000’ 1000" 100 100x10 1000
L.C.M. of 1000, 1000 and 100 is 1000
2500 _ 6050 _ 6505

1000 1000 1000
Hence, ascending order are 2.50 < 6.050 < 6.505 Ans.

.. Ascending order are

..Ascending order are

..Ascending order are

.. Ascending order are
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1152 22 2157

3. (a)1152=""2% 220="% 2157="""
100

1 100

115222 _22x100 _2200 2157

10071 1x100 100 ° 100

L.C.M. of 100, 1 and 100 is 100.

2200 2157 1152
> >

100~ 100 ~ 100

Hence, descending order are 22 > 21.57 > 11.52 Ans.]

(b) 8972 = fggg 8757 8999 =390

10’ 1000
. 8972 87 _87x100 _8700 8990
710007 10 10x100 1000 1000
L.C.M. of 1000, 10 and 1000 is 1000.
8990 _ 8972 _ 8700
1000 1000 1000

Hence, descending order are 8.990 > 8.972 > 8.7 Ans.

(c) 10078 = 10078 ,10870 _10870 ,10780 _10780
10000 10000 10000

10870 _ 10780 _ 10078
> >

10000 10000 10000

Hence, descending order are 1.0870 > 1.0780 > 1.0078 Ans.

(d)610=2",6096=59% 6169619
1 100 100

.61 _61x100 6100 6096 6169

"1 1x100 100~ 100~ 100
L.C.M. of 1, 100 and 100 is 100.

..Descending order are

..Descending order are

..Descending order are

] . 6169 6100 _ 6096
..Descending order are > >
100 100 100
Hence, descending order are 61.69 > 61 > 60.963 Ans.
Exercise 8§ E
1. (a)158+1324+468=33.72 Ans.
(b) 3256 +129 +13.46=5892 Ans.
(c) 41.746+1854 +1285="73136 Ans.
(d) 2255 +38497 +906 =273057 Ans.
(e)3781+3812+3.475=79405 Ans.
(f) 437 +1.698 +2548 =8616 Ans.
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2. (& 217.906 (b) 256.294 (¢) 367.285

312.585 352.005 284.310
+13.602 +19.906 +216.005
544.093 628.205 867.600

(d) () 748.508 (D 97.387
216.800 319.560 2.905
312.995 421.843 317.412
+412.469 +30.020 +581.303
942.264 1519.931 999.007

3. (a) 458 -33.72=1208 Ans. (b) 43208-316579=115501 Ans.

(c) 44875-17382=27.493 Ans.

(d) 511237 —6245=504992 Ans.

(¢) 683 —12.455=55845 Ans.

() 138375 -23805=11457 Ans.

4. 3) 619.709 (b)) 520.010 () 637.317
-318.655 -314.727 -218.582
301.054 205.283 418.735

(d 825.570 (¢) 413.128 () 381.682
~658.499 -311.600 -125.342
167.071 101.528 T256.340

5. Total length of ribbon =20 m

Cut ribbon =665m +26 m =925m

Remaining ribbon =20m —925m =10.75m

Hence, remaining ribbon =10.75 m Ans.
6. Cost of a book =3 17525

Cost of a pen = X 3250

Cost of a box = ¥ 35

..Money spent altogether = I 17525+ ¥ 3250+ ¥ 35= 3 24275

Hence, < 242.75 spent altogether. Ans.
7. Sum of 15.7 and 1386 =15.7 +13.86=2956

Now, sum of 12.61 and 13.825=12.61+13825=26.435

..Difference =29.56 —-26.435=3125 Ans.
8. Total points =1925+18.75+19=57

Hence, the total points =57 Ans.
9. Return money = ¥ 1000 — T 68565= 3 31435

Hence, ¥ 31435 will return the shopkeeper. Ans.
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10. Number should be added =40 -3798 =202

Hence, 2.02 should be added. Ans.

Exercise 8 F
1. (a) 0.03 has two decimal places. 0.4 has one decimal place

50

Total decimal place =2 +1=3 Hence, 003x04=0012 Ans.

(b) 2.3 has one decimal place. 0.2 has one decimal place.
Total decimal place =1+1=2

Hence, 23x02 =046 Ans.
(¢) 0.3 has 1 decimal place. 0.2 has 1 decimal place.
Total =1+1=2
Hence, 03x02=006 Ans.
(d) 1.2 has 1 decimal place. 9 to 0 decimal place.
Total =1+0=1
Hence, 12x9=108 Ans.
(e) 7.2 has 1 decimal place. 0.12 has 2 decimal places.
Total =1+2=3
Hence, 72x012=0864 Ans.
(f) 4.4 has 1 decimal place. 3.8 has 1 decimal place.
Total =1+1=2
Henzci, 44x38=16.72 - Ans.
a .5 d i
@) x 4.4 @ x1.36
980 1032
9800 5160
107.80 17200
Hence, 245 x 44=107.80 23392
Ans. Hence,1.72 x136 =23392Ans.
(by 2764 (e) 6.9
x 0.8 x9.2
22112 138
Hence, 2.764 x 08 =22112 6210
Ans. 6348
(©) 2314 Hence, 69%x92=6348 Ans
x 7.6 (f 266
13884 x1.2
161980 532
175864 2660
E— 3192

Hence, 2314x 7.6 =175864

Ans.

Hence, 266 x12=3192 Ans.
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€3] 38.74 Hence, 5.7 x4=228  Ans.
x3.9 i 305
34866 X 6.5
116220 1525
151086 18300
19825
Hence, —
3874x39=151086  Ans. Hence, 305 x 65 =19825
(h)y 5.7 Ans.
x 4
2238
3. (2)2725x1000=2725 Ans.  (b)314x100=3140 Ans.
(©)46x10=46 Ans. (d) 14x 100 =140 Ans.
(€) 415x1000=41500 Ans. () 2451x10=2451 Ans.
(g)3145%x10=3145 Ans. (h)19x100=190 Ans.
(1)31718x100=31718 Ans.
4. (2)1000 (b)100 (c) 100 (d) 1000 (e) 100 (f) 10
(2) 100 (h) 1000
5. (2)05x06=—x =39 _003
10 10 100
(6)04x003=2x 3 =12 012
10° 100 1000
(©)22x03=22x 3~ 96 _ (66
1010 100
(d)09x014=2 x 14 ~ 126 5196
10100 1000
(©)21x006=21x &~ 126 _ 196
10" 100 1000
(016x03=10 3 = M o8
100 10 1000
(2)32x0106=32x 120 _3392_ 339,
100 1000
(1) 8x006=8x O =4 _048
100 100
)06x03=3x3 -18 _o13
10 10 100
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6. Weight of 1 tin =356kg 17875

.Weight of 25 tins =356 kg X35
x25=89kg 89375
356 536250
x2.5 625625
; Z § 8 Hence, the cost of 35 books
8900 =73 625625 Ans.
9. Length of 1 piece ribbon
Hence, 89 kg is the weight =33m
of 25 tins. Ans. Length of 20 piece of
7. Cost of one litre petrol ribbon =33 mx20m =66 m
=35275 33
.~.Cost of 20 litres petrol x2.0
=3 5275x20=% 1055 00
5275 660
x20 66.0
0000 Hence, the length of ribbon
105500 .
105500 of 20 piece =66 m Ans.
—_— 10. Distance covered in one
Hence, cost of 20 litres hour =7.75km
petrol = ¥ 1055 Ans. ..Distance covered in 6
8. Cost of one book = ¥ 178.75 hours =7.75km x6 =465
-.Cost of 35 books km
=¥ 178.75x35= T 625625 7.7 2
X
4650
Hence, Amit 46.5 km
covered in 6 hours. Ans.

Exercise 8 G
1. (2)225+10=2.25 Ans. (b) 44 +10=0.44 Ans.
(c)63.78 +100=0.6378 Ans. (d) 702+100=0.0702 Ans.
(€) 35624 +1000=0.35624 Ans.
(f)351+1000=0.0351 Ans.
(g) 68365 +100=0.68365 Ans.
(h) 44813 +1000=0.044813 Ans.
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(8 1.65

92) 151.80
92|

(b) 4.555
12) 54.660
48]
66
—60
66
60
60
—60
0

©  0.107
80) 8560
80} |
560
560

0

(h)  602.05

12) 722460

72}

24

24

60

—60

0
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(©)

5.67
23) 13041
—1151
154
-138
161
-161
0

® 021544
25538600
50|
38
25
136
125

110

“100

100

100
0

(1) 4756

200) 951200

—800|
1512
-1400
1120
-1000
1200
-1200
0
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0)] 1.653

90)148770
7901
587
540
477
450
270
270
0
3. (a)

20
— 0 Ans.
(b) 0.625
8) 50.00
481
20
-16
40
__ 40
___JL
73
()416 16
4.5625
16) 73.0000
—641
90
-80
100
96
40
-32
80
80
0

5

54

140
-125

5 ) 2.0  Hence, i =

Hence,
~=0625

Ans.

Hence, 665 =624

()4

Hence, 4i =4075
40

: M 3.26
25) 89.00 23) 7498
69|\
150 138
-150 ~1338

Hence, 42 =45625
16 Ans.
156

25

6.24

25) 15600

—1501
60
50
100
-100

0

6_
@6 =

Ans.
163

40 40
4.075
40) 163.000
1604 |
300
280
200
200
0

Ans.
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4. One week’s income of
zeeshan = ¥ 47866
..Daily income
=3 47866+7 =73 6838

68.38
7 ) 478.66
42 l
58
-56
26
21
56
-56
0

Hence, zeeshan’s daily

income is ¥ 6838. Ans.

5. Total money =X 787.5

Total child =21
..Each child got money
=% 7875+21=%375
37.5
21) 7875
—63 l
157
-147
105
-105
0

Hence, % 37.5each child

got. Ans.
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Math Lab Activity

. The like decimals are

34.615, 2.083, 344.980,
1.190, 463.201

85 217
. (a) =—=85 (b) ——=0217
oh
¢c)—=019(d) =— =552
( )100 @ 10
4 6

. (@704+34+—+—

100 1000
=73+004+0006= 73046
(6)500+8+ + 4 42

10 100 1000
=508 +0.7 +004 +0.002
=508.742

6 2
) —+—+—

10 100 1000
=06+002+0001=0621

3 6 8
DH8+—+—+——
100 1000 10000

=8+003 +0.006+00008
=80368

Hence, 159 =38

(b) 0.92
2552300
—2251
50
-50

0

Hence, é =092
25
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(©) 0.62 (d)
SOi 31.00 20
-300 l
100
-100
0
Hence, 2 =062
50

(a) 0.008 < 0.009
(b) 5.05 < 6.053
(c)43.6>42.4
(d) 2.586 > 2.506

9. Money

Exercise 9 A

1.

56

Cost of 24 dolls = ¥ 3240

..Costof 1 doll =% 3240+24=%135
..Cost of 30 dolls =3 135%x30= % 4050
Hence, cost of 30 dolls = ¥ 4050

Cost of one litre milk = ¥ 37.75

3.1

) 62.0

20
20

Hence, 62 =31
20

..Cost of 38 litres milk ¥ 37.75x38 =% 14345
Hence, the cost of 38 litres milk = ¥ 14345

The cost of 17 pens = ¥ 323

. Costof 1 pen=%323+17=X%19

.. The cost 0f 49 pens =¥ 19x49=73 931
Hence, the cost of 49 pens = ¥ 931

Cost of one pen =3 78

.. The cost of 22 pens =¥ 78x22=3% 1716
Hence, the cost of 22 pens =3 1716

Cost of 8 T.V. sets = ¥ 83720

~.Cost of 1 T.V. set = ¥ 83720+ 8= T 10465
~.Cost of 37 T.V. sets = I 10465x 37 = X 387205

The cost of one school bag = ¥ 47550

.. The cost of 27 school bags = I 4755027 =¥ 1283850

Hence, the cost of 27 school bags = T 1283850

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.
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Exercise 9 B
1. @ % p

24.45
36.23
+ 84.81
145.49

Hence,
32445+ 33623 + % 8481

=3 14549 Ans.

by T P
35.00
39.00
+68.00
142.00

Hence,
33500+ %3900+ % 6800

=7314200 Ans.

) T p
1.35
1.76

+2.05
5.16

Hence, 135+ %176+ % 205

=3 516 Ans.

d T p
30.05
65.30

+22.45
117.80

Hence,
33005+ %6530+ %2245

=31178 Ans.
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e % p
2.50
23.70
+315.65

341.85

Hence,

3250+ %2370+ X 31565

=% 34185
(H T P
40.35
45.90
+34.60

120.85

Hence,

Ans.

%4035+ % 4590 + X 3460

=3 12085

.(@d % p

(c) 42 42
+38 38

80 80

i p
453 13
+645 29

1098 42

3 p
320 61
+372 29

692 90

Ans.
(b)
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@@ T p ( % p (B T P
325 38 470 25 37 50
+232 65 +82 98 +43 20
558 03 553 23 80 70
@ T p (b T D
226 65 400 10
+345 32 +390 97
571 97 791 07
3. Costof T.V.=7%10, 750
Cost of refrigerator = T 9756
- Total cost =¥ 10750+ T 9756 = ¥ 20506
Hence, Mannu spent I 20506 on these items. Ans.
4. Arti bought grocery = ¥ 36855
Arti bought washing powder = ¥ 2850
Arti bought tooth paste = ¥ 30.75
Money spent in all = ¥ 36855+ ¥ 2850+ X 30.75= ¥ 4278 Ans.
Hence, Arti spent 34278 in all.
5. Kannu collect money in all classes

=3 25300+ % 36800+ % 18600= % 807

Hence, Kannu collect the money < 807. Ans.
Exercise 9C
1.a % P b) T P ) % P
1000 . 00 830 .00 10. 00
-910. 50 —480 . 25 —00.75
89.50 349 .75 9.25
d T P () ¥ P M T p
99 .00 55.00 500. 00
—-00.90 —48 .08 —487 .35
98.10 6.92 12.65
2.(@ R P
95.27
- 34.88
60.39
Hence, 9527 — ¥ 3488=% 6039 Ans.
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b 2
83.
- 68.

p
80
10

15.

Hence,

70

T 8380-36810=%15.70
p

.00
.43

.57

¥300-%243=%057
|y

.07
.70

.37

Hence,

% 7407 — X 35.70=X 3837
p

.32
.65

.67

Hence,

" z
88.
- 26.

36732-33465=%3267
p

05

25

61.

Hemce,

3. %
80
-12

67

(d) 4

328
-259 64
68 48

80

7 8805—%2625=3% 6180
p b T p
35 52 40
47 -18 85
88 33 55
p e T p
15 80 44
-45 16
35 28
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Ans.
Ans.
Ans.
Ans.
Ans.
) T p
38 10
-12 40
25 70
T p
2 98
-1 39
1 59
59



(@ 4 p h)y T p
323 70 56 15
-154 50 -27 170
169 20 28 45

Left money with Krishna =% 1000 -3 62800 = T 37200

Hence, ¥ 37200 left with him. Ans.
Left money with Punit = ¥ 35665 - 118.75=3 2379

Hence, ¥ 2379 left with him. Ans.
Left money with Priya =3 100—- ¥ 8350=73 1650

Hence, ¥ 1650 left with her. Ans.

10. Percentage

Exercise 10 A

1.

60

44 58
g b) 28
(a) 100 (b) 100
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© 52 @ 32

2. (a) Out of 100 squares, 52 are shaded.
So, 2 portion is shaded.
100

222 500
100

(b) Out of 100 squares, 41 are shaded.

ﬂ =41%
100

(c) Out of 100 saquares, 55 are shaded.

ﬁ =55%
100

(d) Out of 100 squares, 64 are shaded.

LT
100

3. (a) 32 32% Ans. (b) 2 2% Ans.
100 100

(©) 100 =100% Ans.
100

(d) 26226%4 104 _ 16400 Ans.

25 25x4 100
() 4> =B _A3x10_330_ 43500 Ans. () > =5%
10 10 10x10 100 100

Ans.
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(©)432% =2 _432 Ams. (d)356% =20 =356 Ans.
100 100
©175% =72 _175 Ans.  ()683% =22 _683 Ans.
100 100
L (@)135=132100 135,/ 1350, Ans.
1x100 100
(b) 208 = 208100 _208 " 50, Ans.
1x100 100
(c) 16= 161610 160, o, Ans.
10 10x10 100
(d)095=092x100 _ 95 o/ g50, Ans.
100 100
()372=272x100 372/ 3930, Ans.
1x100 100
(f) 23=23 223310230, " 5340, Ans.
10 10x10 100
. (a)26%:—6 Ans. (b)32%:£ Ans.
100 100
(€)335% =22 =335 Ans. (d)200% =220 Ans.
100 100 100
(©)150% =29 Ans. (f)317% =21 Ans.
100 100
. (a)22%=2=E Ans. (b)35%=3—5=l Ans.
100 50 100 20
(©)26% =28 =13
100 50
(d)280% =220 _28 14,4 4ps.
100 10 5 5
(e)325%:ﬁ:§:3i:3l Ans.
100 20 20 4

70 7
70% =——=—Ans.
(h70% =106 =10
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Exercise 10 B

1. (a) Percent of ¥ 401is ?8=ﬁ 100 ( 8 xlOO)%
240 100 |40
:l><100% =20%
5 Ans.
(b) Percent of X 80is 50 paise
_0paise XIOOZ( >0 xlOOj%
I8 100 \8x100
[+ 1=100p]
=09 —620,=610
8 8 4 Ans.
(c) Percent of 7 m is 280 cm = 2o0em 100 ( 280 xlOOj%
7m 100 (7x100
[ 1 m=100cm)]
=280% =40%
7 Ans.
(d) Percent of 2 kg is 840g:840g><100=( 840 xlooj%
2kg 100 \2x1000

[+ 1 kg =1000g]

=%%=42%
2
(e)Percentof60is18=§x@ (18 100]% 30%
60 100 \ 60

(f) Percent of ¥ 351s
s 70 370 100 _ (70

- 35

100)% 200%
I35 100

2. (a) 20% of 80 = 20><180(z)—16 Ans.

(b) 40% of T 800 =40 x %8008_%40 «8=3320 Ans.

(c) 10% of 5 kg=10><—kg=05kg Ans.

(d)28 % of 10 m 125 Em:2.875m

100
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©22 % o0f50=2 %2 1125 Ans.
2 2 7100

(f) 37% of 80 m =37 xfo(:)m ~296m  Ans.

Exercise 10 C
1. Total planted trees =120
and died trees =24

Percentage of died trees = 12;:) x100% =; x100% =20%

..Percentage of survived trees =(100 —20) =80%
Hence, 80% trees are survived. Ans.

2. Percentage of Om’s marks =(;(7) X 100}% =(17x5)% =85%

and percentage of Kannu’s marks

:Gi x 100)% =(22x 4)% =88%

~+ 88% > 85%

Hence, Kannu’s performance is better than Om’s performance.
Ans.

3. Percentage of Sonu’s marks :(;2 X 100)% =(18x4)% =72%

Hence, 72% marks got by Sonu Ans.
4. Student passed in exam =80% of 75
[ total appeared students = 75]
75
..passed students =80 x — =60
100
Now, failed students =(75-60) =15
Hence, 60 students passed and 15 students failed. Ans.
5. Brij had money = ¥ 800

.~.Brij gave money to his grand son =30% of ¥ 800

= 730x 399 _ 7240
100

and he gave money to her granddaughter =25% of ¥ 800

~725x 399 _ 37500
100
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Total gave money = ¥ 240 + I 200= % 440

Now, money left with Brij = ¥ (800 — 440) = ¥ 360

Hence, T 360 left with her. Ans.
6. Poonam got money on her birthday = ¥ 1000

~.She spent money = 70% of % 1000 =370 x 11000: ~ 2700

Now, save money = (1000 — 700) = ¥ 300
Hence, she saved ¥ 300. Ans.

Exercise 10 D
1. (a) C.P.=7% 400 and Profit =¥ 50

S.P.=C.P. +Profit =¥ 400+ ¥ 50 =% 450
(b) C.P.=%1000and Loss =3 100
~.S.P.=C.P. —Loss =% 1000— ¥ 100= % 900
(c) S.P.=%900and Loss =X 100
~.CP.=S.P. +Loss =3 900+ X 100= 3 1000
(d) S.P. =% 625 and Profit = ¥ 50
~.C.P.=S.P. - Profit=% 625-%¥ 50=% 575
(e) C.P.=%320and S.P. =% 390
..S.P.>C.P. So we will get profit.
Profit=S.P. -C.P.=3390-%3320=% 70
2. - Selling price of television = X 6345
and Loss = ¥ 885
~.C.P.=S.P.+Loss =% 6345+ ¥ 885=% 7230
Hence, the cost price of television = I 7230 Ans.
3. - Cost price of second-hand scooter = I 22325

and cost of repairing = I 1485

.. Total C.P. of second-hand scooter

=3 22325+ 1485=3% 23810

~.+ Selling price of second-hand scooter = ¥ 25500

Since S.P. > C.P.

Profit=S.P. - C.P. =¥ 25500 - ¥ 23810= ¥ 1690

Hence, gain on the second-hand scooter = I 1690 Ans.

4. C.P. of machines = ¥ 800

and S.P. of machine = ¥ 730
Since, C.P. > S.P.
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~.Loss=C.P.-S.P.=%800-% 730=% 70
Hence, loss on the machine = ¥ 70
. S.P. of a chair = ¥ 480

- Profit on chair= ¥ 70

..C.P. of chair =S.P. — Profit=3 480— % 70=3 410
Hence, C.P. of chair =¥ 410

. C.P. of radio = ¥ 800

and cost of repairing = I 50

.. Total C.P. of radio = ¥ 800+ ¥ 50= ¥ 850
Profit = ¥ 60

S.P. of radio = ¥ 850+ ¥ 60=3 910
Hence, the selling price of radio = ¥ 910

. S.P. of almirah = ¥ 2000

Shopkeeper had loss = ¥ 220
~.C.P.=S.P. +loss = 2000+ ¥ 220= ¥ 2220
Hence, cost price of almirah = ¥ 2220

Exercise 10 E

1. (a) P=%800,R :4; % per annum :2 % per annum

T =1year

LSl :PxRxT _3 800x9x1
100 100x2

Hence, S.I1. =¥ 36

(b) P=7% 1200, R =8% per annum, Time =2 years

=336

=P><R><T _z 1200><8><2=?192

100 100
¢) P =% 4000, R =9% per annum, Time :é ears
(c) p Y

~S.L

_PxRxT _ z 4000x9x 8
100 100x12

~S.L =% 240

(d)P=%3000, T=X 7;years=125years and R =11%

SI.:PXRXT: z 3000x11x15

100 2x100
Hence, S.I. = ¥ 2475

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

Ans.

=X 15x11x15=7% 2475

Progress With Maths-5



(e) P=% 700, R =9% per annum, T =3 years
LS _PxRXT _ z 700x9x3 ~ 7189
100 100

Hence, S.I. =3 189 Ans.
. P=3%3500, R=81%=1—7%andT=3lyears=zyears
2 2 2 2

_PxRxT_? 3500><17><7_? 35><17><7_? 4165

100 2x2x100 4 4
=3104125
Hence, S.I1. = 3104125
. P=3%40000, R =20% per annum, T =3 years
PxRxT _ 7 40000%x20x3

100 100
Amount he had to pay = ¥ 40000 + T 24000 = X 64000
[*- Amount =P +S.L.]
Hence, 64000 he has to pay after 3 years to clear his debt.
Ans.

S.I.

S.I = =% 24000

. P, =%30000,R, =15% per annum, T =2 years
~(S.L), PR 3 30000152
100 100
Now, P, =% 50000,R, =10% per annum, T =2 years
P, xR, xT
f(SL), =2 X XD 5 50000x10x2 _ 51609
100 100

. Total amount =(S.1.), +(S.I.), =¥ 9000 + I 10000 = X 19000
Hence, I 19000 he has to pay as interest Ans.

=3 9000
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11. Length, Weight and Capacity

Exercise 11 A

1. (a) I8m36cm=18m + @m=18m+036m=18.36m

68

36
Ans.

(b)32m3 cm=32m+130m=32m+ 003 m=3203m

(c)26 m 82 cm =26m + 18020m=26m+ 082m =2682m

Ans.

Ans.

(d)25m87cm=25m +8—7 m=25 m+087m=2587m
100 Ans.

(e) 68 m 90 cm =68 m +$m=68m+ 090 m =6890 m
100 Ans.

(f) 87 m 35 cm:87m+£m:87m+035m:8735m
100 Ans.
(a) 18 m23 cm=18x100cm + 23 cm =1800 cm + 23 cm

=1823 cm Ans.
(b)27m45cm=27x100cm + 45cm =2700 cm + 45cm

=2745cm Ans.
() 133 m 8 cm=133%x100cm + 8 cm =13300 cm +8 cm

=13308 cm Ans.
(d)16km 11m 5 cm=16x100000cm + 11x100cm + 5 cm

=1600000cm + 1100cm + 5cm =1601105cm  Ans.

() 113 m85ecm=113x100cm + 85cm =11300cm + 85 cm

=11385cm Ans.
() 405 m 25 cm =405%x100cm + 25cm =40500cm + 25cm
=40525 cm Ans.
(a) 6723 m=6000 m + 723 m =6km + 723 m =6 km 723 mp ps.
(b) 1004 m=1000m+4m=1km+4m=1km4 m Ans.
(¢) 94085 m =94000 m + 85m =94 km + 85 m =94km 85 m
Ans.
(d) 35325 m = 35000 m + 325 m =35km + 325m ns
=35km 325 m Ans.
(e) 69808 m =69000 m + 808 m =69 km + 808 m =69 km 808 m
Ans.
() 36675 m=36000 m+ 675m=36km+ 675m=36km 675 m
Ans.
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4. @9km310m=9%x1000m+310m=9000 m+310m=9310m

Ans.
(b) 26 km 65 m=26x1000m + 65m =26000 m + 65m
=26065 m Ans.
()43 km 18 m =43 x1000m + 18 m =43000 m +18 m
=43018 m Ans.
(d) 29 km 626 m =29x1000m + 626 m
=29000 m + 626 m =29626 m Ans.
() 62 km 39 m=62x1000m + 39 m =62000 m + 39m
=62039m Ans.
(f) 44 km 65 m =44 %1000 m + 65 m =44000 m + 65 m
=44065m Ans.
1600
5. (a) 1635 cm =1600 cm + 35 cm=Wm+ 35cm
=l6m+35cm=16m 35 cm Ans.
(b) 42063 =42000 cm + 63 cm =420 cm + 63 cm
=420m 63 cm Ans.
() 7633 cm=7600 cm+ 33 cm=76m + 33cm =76m 33 cm
Ans.
(d